VICOR CONFIDENTIAL

THIS DOCUMENT AND THE DATA DISCLOSED
HEREN OR HEREWITH IS NOT To BE REPRODUCED,
USED, OR DISCLOSED IN WHOLE OR IN PA

5 ANYONE WITHOUT PERSSIN OF VICOR CORP,

CONFIGURATION 'B’

COLDPLATE VERSION SHOWN
SINGLE OUTPUT
WITH PLUGMATES

INCHES
J MM
il f 1 -
204 SO il \
T = L T F T T T
496
126
20 4560
5.1 115.82
63 o o o
= 5 ©
e © c ©
@ VIPAC
68.07
6.80 o /
1727 ° O oo0e O °

°
°
°
o
o

o ©
o
o o
o
°
o
°
o
o
]
°

6.000
749 | 152,40
190.2 . . .
o VIPAC 0||o] VIFAC 0|
@@
© © © O QO o o o %
000000000 .000000000
000000000 scocccoco
L LW
5794 145
154 285
! 39.1 ! 724

CUSTOMER MUST WIRE OUTPUTS OF
CONVERTERS IN PARALLEL AS SHOWN
REFER TO DATA SHEET FOR DETAILS

XX _.02 XXX _ .010
TOLERANCES e Mo

MOUNT (7) PL USING
#8 FLAT HEAD SCREW

(M4 FLAT HEAD SCREW)

TORQUE TO 12 IN. lbs

=] [ o [

‘ ‘ SEE SHEET 1 ‘ ‘

CONFIGURATION 'B’

COLDPLATE VERSION SHOWN
DUAL OUTPUT
WITH PLUGMATES

INCHES
| MM
: LT | .
81
FA= = 1O 10.0) ;o Een Ll L LI
= —— T T T
496
126
20 4560
51 1582
63 o °
- ©
e © o o
2680
6807 VIPAG
MOUNT (7) PL USING
50 28 FLAT HEAD SCREW
680 . N /w FLAT HEAD SCREW)
1727 O oo0o0 O TORQUE TO 12 IN. Ibs.
O © 0000 @
00000
6.000 o o o o o o o o
152.40
7.49 = Fr— =
190.2 o VIPAC ollo VIPAC 0|
&@
© 0 © O O o 0 9 §
- B
600000000 00000000
000000000 O 0s00as00e
- o] 1]
‘ ‘ @ 57
39.1 145
T s | s
! ! 724
XX .02 XXX _.010
TOLERANCES XX -0 XXX -

UNLESS OTHERWISE SPECFED

Aﬂ# VICOR

!é’:ﬁéﬂ?%é}’?ﬁm = OUTLINE DRAWING

VIPAC CONFIG "B" (DC)
S e ST {S7E PO B, oV v
= [2) 21318 |1

DO NOT SCALE DRAWNG _ |SCALE 11

67131
[

[seer 7 oF 2




VICOR CONFIDENTIAL

THIS DOCUMENT AND THE DATA DISCLOSED
HEREIN OR HEREWITH IS NOT TO BE REPRODUCED),
USED, OR DISCLOSED IN WHOLE OR IN PART

TO ANYONE WITHOUT PERMISSION OF VICOR CORP.

CONFIGURATION 'B’

COLDPLATE VERSION SHOWN
SINGLE OUTPUT
WITH LUGMATES

MOUNT (7) PL USING

#8 FLAT HEAD SCREW
(M4 FLAT HEAD SCREW)
TORQUE TO 12 IN. Ibs.

#10-32 STUD

FITS 1 LUGS MIN
(VICOR P/N 23520)
TORQUE YO 16 IN. Ibs.
4 PLACES

.28

INCHES
| MM
77 I I}
196 OO
496
126
20 4560
5.1 115.82
63 © o o
6
e o o o
M VIPAC
68.07
6.80 o
1727 ° O ooce O °
Qooooo ©
6.000 ©0000
15240 o o o o o o o o
7.4
188.3 ) le | .
o VIPAC ool VIPAC ol
22
@ cle @ s
O) o © o (O O) e o o (O 1
o é 1) o é [:)
QA ©
I i — H
INSULATED 2.280 135 66
BUS BAR (2 PL) 57.91 343 16.9
135 \ 294
343 748
. XX _.02 XXX _.010
TOLERANCES e = e

A—L.i}\‘;
wl=

T
jL

CONFIGURATION 'B’

COLDPLATE VERSION SHOWN
DUAL OUTPUT
WITH LUGMATES

INCHES
MM

77
19.6 H@@@%y:ﬁyu—\ i I%

TTeTT

e

[ o [

‘ 1 ‘RELEASE PER E1607750

G[K‘ 08/09/16 ‘ MTB

MOUNT (7) PL USING

18 FLAT HEAD SCREW
(M4 FLAT HEAD SCREW)
TORQUE TO 12 IN. lbs.

#10-32 STUD

FITS 2 LUGS MIN
(VICOR P/N 23520)
TORQUE YO 16IN. lbs,
4 PLACES

496
126
20 4560
5.1 115.82
63 ° ° °
16
o 6 o o
2.680 VIPAC
68.07
6.80 o
172.7 @
6.000 o o
s | 5240 ) . .
182.2 1
5 VIPAC ollo VIPAC o
@) @ & 22
O} o o () o e o |0 56 .04
o (a) ° o> o KB
OIS © |
RES 26
343 16.9
2.94
748
XX 02 XXX _.010
TOLERANCES: Wi s v e

Aﬂ# VICOR

N_ESS DTFERWISE SPECFED

o
DINENSIONS. ARE 1N INCHES-

TOLERANCES AFE: OUTLINE DRAWING

FRACTIONS DECMALS ANGLES
Yes xxo e e
Sox—s 005

VIPAC CONFIG "B" (DC)

THRD ANGLE PROECTEN _|SZE [FSCM N0, [OWG KO
21318

REV

7

scale 1]

— 67131
i [seer 1 oF

D0 NOT SCALE DRAWNG

2




